[14]: 1 pd.to_datetime('2021-01-02') + pd.tseries.offsets.MonthBegin(-2)

[147: Timestamp('2020-12-01 00:00:00')

%%backtest
# from datetime import datetime

[49]:

end = '2023-02-28'

universe = StockUniverse('Zz800")

# FIR300: H_LBRIRYGESFtFHHEA. RaIIFH300 SBELMK, HERBFPEAR TG L HREMEHERRI,

# HIF500: HEEARTFPEIRFFI00 15 R RS TEHFS 300 SR RE, SHEHSFERIS500 3RFEEMK, HERBHPEARTGHF—HANTELSHIRRIMERI,
9 # HIFB00: HIFB00FEXHIFIE500 FIF R300IEH A IRAARL, 47E RIMAF EARTIZA N THEL FIRIREN ISR,
10 benchmark = 'HS300'

1
2
B8
4 start = '2020-01-01'
3
6
7
8

11 freq = 'd’
12 refresh_rate = Monthly(-1)
13
14 accounts = {
15 'stock_account': AccountConfig(account_type='security', capital_base=1e6)
16 }
17
18
19 def initialize(context):
20 pass
21
22
23 def handle_data(context):
24 current_universe = context.get_universe(asset_type='stock',exclude_halt=True)
25 today = context.current_date
26 # print(today)
27 if today.strftime('sd') == '01':
28 prev_month_begin = today + pd.tseries.offsets.MonthBegin(-1)
29 else:
30 prev_month_begin = today + pd.tseries.offsets.MonthBegin(-2)
31 # print('prev_month_begin:', prev_month_begin)
32 try:
33 factor_exposure = get_data_cube(symbol=current_universe,
34 field=['d6dk9218qq.size', 'd6dk9218qq.rev','d6dk9218qq.bm',
35 'd6dk9218qq.illiq", 'd6dk9218qq.ivol'],
36 start=prev_month_begin, end=today,
37 style='ast').to_frame().reset_index()
38 except AttributeError:
39 factor_exposure = pd.DataFrame()
40 # print(factor_exposure.columns)
41 if factor_exposure.shapel[0] ==
42 pass
43 else:
44 factor_exposure. rename(columns={'major': 'date', 'minor"':'sec_id",
45 'd6dk9218qq.size': 'size’,
46 'd6dk9218qq.bm': 'bm',
47 'd6dk9218qq.rev':'rev',
48 'd6dk9218qq.illiq': 'illiq’,
49 'd6dk9218qq.ivol': 'ivol'}, inplace=True)
50 # print(factor_exposure)
51 # print(factor_exposure['date'].unique()[-1])
52 # factor_exposure = factor_exposure[factor_exposure['date'] == factor_exposure['date'].unique()[-1]]
5] ####H Intersection ##tHH##
54 # stocks_set = {}
55 # stocks_set['rev'] = set(factor_exposure.sort_values('rev', ascending=True)['sec_id'].iloc[0:200].tolist())
56 # stocks_set['size'] = set(factor_exposure.sort_values('size', ascending=True)['sec_id"'].iloc[0:200].tolist())
57 # stocks_set['illiq'] = set(factor_exposure.sort_values('illiq', ascending=False)['sec_id'].iloc[0:200].tolist())
58 # stocks_set['ivol'] = set(factor_exposure.sort_values('ivol', ascending=True)['sec_id"'].iloc[0:200].tolist())
59 # stocks_set['bm'] = set(factor_exposure.sort_values('bm', ascending=False)['sec_id'].iloc[0:200].tolist())
60 # buy_list = set.intersection(
61 # stocks_set['rev'],
62 # stocks_set['size'],
63 # stocks_set['illiq'],
64 # stocks_set['ivol'],
65 # stock_set["'bm']
66 # )
67 # buy_list = list(buy_list)
68 #HHHE Scoring ###HHE
69 factor_exposure['rev_rank'] = factor_exposure['rev'].rank()
70 factor_exposure['size_rank'] = factor_exposure['size'].rank()
71 factor_exposure['illig_rank'] = factor_exposure['illiq'].rank(ascending=False)
72 factor_exposure['ivol_rank'] = factor_exposure['ivol'].rank()
73 factor_exposure['bm_rank'] = factor_exposure['bm'].rank(ascending=False)
74 factor_exposure['rank_sum'] = factor_exposure['illig_rank'] + \
75 factor_exposure['rev_rank'] + \
76 factor_exposure['ivol_rank'] + \
77 factor_exposure['size_rank'] + \
78 factor_exposure['bm_rank']
79 factor_exposure.sort_values('rank_sum', inplace=True)
80 factor_exposure.reset_index(drop=True, inplace=True)
81 # print(factor_exposure)
82 nstocks = factor_exposure.shapel0]
83 buy_list = list(factor_exposure['sec_id']l.iloc[0:50])
84
85 stock_account = context.get_account('stock_account"')
86 current_positions = stock_account.get_positions(exclude_halt=True)
87
88 for stock in current_positions:
89 if stock not in buy_list:
920 stock_account.order_to(stock, 0)
91 if len(buy_list) == 0:
92 pass
93 else:
94 for stock in buy_list:
95 stock_account.order_pct_to(stock, 1/len(buy_list))
96
A
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[47]:

[48]:

e Eukd ERLE = FAEIL: | 1B RS A 18] FHHBRFE
17.9% 0.34 16.0% 21 878.86%
Ritz=R [OF -+
40.00%
20.00%
0.00%
-20.00%
2020-01 2020-05 2020-09 2021-01 2021-05 2021-09 2022-01 2022-05 2022-09
1 2021-09 2022-05
1 # #ZFBEICR
2 show_order(start,end)
stock_account P HER: 2020-01-23 Z 2023-02-28
# #
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1 # #BENSFCICR
2 show_position(start,end)
stock_account EiEHE: 2023-02-28
#ERB H=BWR DRNE HERE AIAYE HemE RitRS HenE
600177 BXR 6.58 1,900 1,900 12,502.00 125.64 0.97%
600528 Rk Tl 8.56 1,500 1,500 12,840.00 662.84 1.00%
600507 FAREN 6.39 2,000 2,000 12,780.00 627.86 0.99%
600350 IIFREE 6.00 2,100 2,100 12,600.00 618.03 0.98%
601098 PRt 10.00 1,200 1,200 12,000.00 -96.08 0.93%
601298 EhE 5.75 2,300 2,100 13,225.00 177.97 1.03%
600808 DNARD 3.09 4,200 4,200 12,978.00 1070.11 1.01%
600917 BRMRS 8.16 1,500 1,500 12,240.00 490.26 0.95%
600782 FRERBR 4.56 2,800 2,800 12,768.00 1347.86 0.99%
600901 InEE 6.05 2,100 2,100 12,705.00 1248.55 0.99%
600642 BEERTD 5.52 2,300 2,300 12,696.00 123.44 0.99%
SM20%, #85% <[ ]2 3 4 5 > 20%A - HE m

eSS

2023-01

2023—0E|

SHEXCEL

TR

2HRR O
23z O
2HRR O
23 O
E:1025°30)
E3- 1536

E:1025°30)

2EMrvzx (7

SHEXCEL

A
6.51
8.12
6.08
5.71

10.08
5.67
2.84
7.83
4.08
5.46

5.47



